Bid No. 2019-035 Annual Contract for Wrecker Service

			PRIMARY		SECONDARY		ALTERNATE			
		B&T Best Tow, LLC dba Milner Wrecker Fort Worth, TX COOP - Yes HUB - No		AVE Towing, LLC dba ABC Wrecker Service Fort Worth, TX HUB - No		JDB Towing, LLC dba Beard's Towing Fort Worth, TX HUB - No		WHW Transport, Inc. dba Cornish Wrecker Service Fort Worth, TX HUB - No		
Item	Description	Est Qty	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Light Duty Vehicles, Per tow	300	\$60.00	\$18,000.00	\$60.00	\$18,000.00	\$70.00	\$21,000.00	\$85.00	\$25,500.00
2	Additional Mileage, Per loaded mile	370	\$1.00	\$370.00	\$2.00	\$740.00	\$1.00	\$370.00	\$3.50	\$1,295.00
3	Heavy Duty Vehicles, Per tow	50	\$100.00	\$5,000.00	\$95.00	\$4,750.00	\$100.00	\$5,000.00	\$250.00	\$12,500.00
4	Additional Mileage, Per loaded mile	50	No Charge	No Charge	\$2.00	\$100.00	No Charge	No Charge	\$4.00	\$200.00
5	Hourly Labor Rate Light Duty Tows, Per hour after first 30- minutes	10	\$45.00	\$450.00	\$45.00	\$450.00	\$60.00	\$600.00	\$65.00	\$650.00
6	Hourly Labor Rate Heavy Duty Tows, Per hour after first 30-minutes	5	No Charge	No Charge	No Charge	No Charge	No Charge	No Charge	\$125.00	\$625.00
7	Storage Fees, Light Duty, Per day, per vehicle	5	No Charge	No Charge	No Charge	No Charge	No Charge	No Charge	\$20.00	\$100.00
8	Storage Fees, Heavy Duty, Per day, per vehicle	1	No Charge	No Charge	No Charge	No Charge	No Charge	No Charge	\$35.00	\$35.00
9	Removal and Transport of Dynamometers, Per occurrence	6	No Charge	No Charge	No Charge	No Charge	No Charge	No Charge	\$350.00	\$2,100.00

Bid No. 2019-035 Annual Contract for Wrecker Service

			PRIMARY		SECONDARY		ALTERNATE			
			B&T Best Tow, LLC dba Milner Wrecker Fort Worth, TX COOP - Yes HUB - No		AVE Towing, LLC dba ABC Wrecker Service Fort Worth, TX HUB - No		JDB Towing, LLC dba Beard's Towing Fort Worth, TX HUB - No		WHW Transport, Inc. dba Cornish Wrecker Service Fort Worth, TX HUB - No	
Item	Description	Est Qty	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
10	Flat Service, Per occurrence	20	No Charge	No Charge	No Charge	No Charge	No Charge	No Charge	\$85.00	\$1,700.00
11	One Way Transport of Tarrant County vehicles from Tarrant County Central Garage to Delivery Location 1, Windy Ryon Roping Arena, Per 1-way	60	\$30.00	\$1,800.00	\$30.00	\$1,800.00	\$35.00	\$2,100.00	\$75.00	\$4,500.00
12	One Way Transport of Tarrant County vehicles from Tarrant County Central Garage to Delivery Location 2, Pursuit Safety or return to Tarrant County Central Garage, Per 1-way	20	\$30.00	\$600.00	\$75.00	\$1,500.00	\$80.00	\$1,600.00	\$85.00	\$1,700.00
	TOTAL BID		\$26,220.00		\$27,340.00		\$30,670.00		\$50,905.00	

No Bid: Thomas Wrecker Services, LLC

Bid No. 2019-035 Annual Contract for Wrecker Service

			Inc. dba E	ne Products, dd's Towing er, TX 3 - No	Servio	ing Wrecker ce, Inc. orth, TX s - No	Ron's Towing, Inc. dba Denny's Towing Arlington, TX HUB - No		
Item	Description	Est Qty	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended	
1	Light Duty Vehicles, Per tow	300	\$95.00	\$28,500.00	\$95.00	\$28,500.00	\$125.00	\$37,500.00	
2	Additional Mileage, Per loaded mile	370	\$3.00	\$1,110.00	\$4.00	\$1,480.00	\$3.00	\$1,110.00	
3	Heavy Duty Vehicles, Per tow	50	\$225.00	\$11,250.00	\$300.00	\$15,000.00	\$250.00	\$12,500.00	
4	Additional Mileage, Per loaded mile	50	\$4.00	\$200.00	\$7.00	\$350.00	\$4.00	\$200.00	
5	Hourly Labor Rate Light Duty Tows, Per hour after first 30-	10	\$185.00	\$1,850.00	\$100.00	\$1,000.00	\$100.00	\$1,000.00	
6	Hourly Labor Rate Heavy Duty Tows, Per hour after first	5	\$185.00	\$925.00	\$250.00	\$1,250.00	\$250.00	\$1,250.00	
7	Storage Fees, Light Duty, Per day, per vehicle	5	No Charge	No Charge	\$20.00	\$100.00	\$20.00	\$100.00	
8	Storage Fees, Heavy Duty, Per day, per vehicle	1	No Charge	No Charge	\$35.00	\$35.00	\$35.00	\$35.00	
9	Removal and Transport of Dynamometers, Per occurrence	6	\$95.00	\$570.00	\$95.00	\$570.00	\$250.00	\$1,500.00	

Bid No. 2019-035 Annual Contract for Wrecker Service

			Inc. dba Eo Kelle	ne Products, dd's Towing er, TX 3 - No	Servio	ing Wrecker ce, Inc. orth, TX - No	Ron's Towing, Inc. dba Denny's Towing Arlington, TX HUB - No	
Item	Description Est Qty		Unit Price	Extended	Unit Price Extended		Unit Price	Extended
10	Flat Service, Per occurrence	20	\$95.00	\$1,900.00	\$95.00	\$1,900.00	\$125.00	\$2,500.00
11	One Way Transport of Tarrant County vehicles from Tarrant County Central Garage to Delivery Location 1, Windy Ryon Roping Arena, Per 1-way	60	\$95.00	\$5,700.00	\$30.00	\$1,800.00	\$125.00	\$7,500.00
12	One Way Transport of Tarrant County vehicles from Tarrant County Central Garage to Delivery Location 2, Pursuit Safety or return to Tarrant County Central Garage, Per 1-way	20	\$95.00	\$1,900.00	\$315.00	\$6,300.00	\$125.00	\$2,500.00
	TOTAL BID		\$53,905.00		\$58,285.00		\$67,695.00	

No Bid: Thomas Wrecker Services, LLC